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Q4. Together Eugene and Eric owned 43  car toys.If 21 were Eric's toys how many were Eugene's?

Q5. Rick had $74 and he spent $42.How much did he have left?

Q6. In a class test Gabriel answered 20 questions out of 35 questions.How many questions she did not attend?
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Q1. In a group of 56 people,18 wore hat.How many did not wear hat?

Q2. Rayan was one of the 12 boys in his class of 25 students.How many girls were in his class?

Q3. Juan noticed that the temperature of his place has dropped by 9 degrees from 20 degrees. What is the new 

temperature ?

ANSWER
KEY


